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INSTRUCTIONS:


Answer all questions.  It is essential that you explain the reasoning behind your answers rather than just give the answers themselves.  Be as brief, but as rigorous, as possible.  The exam has a total of 30 points, with points for each question in parentheses.
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Potentially Helpful Formulas:

Beta definition

Textbook Formula WACC

βJ = Cov (rJ,rM) / σ2M
WACC = VD/(VD+VE) * E(rD) * (1-τC) + VE/(VD+VE) * E(rE)

CAPM Security Market Line Equation:

E((rJ ) = rF + βJ * [E(rM)- rF]

Dividend Discount Model with Constant Growth:

P0 = DIV1 / (r-g)

Growth Rate in dividends given constant plowback ratio and Return on Equity:

g = b*ROE

Return on Equity for year t

ROEt = Earningst / Book Value of Equityt-1
I. (4 points) 

A) What is the “Green Shoe Option”?

B) What is a bankruptcy trustee?   Why are such trustees sometimes appointed by courts?

II. (3 points) You have been hired by a retail chain to estimate its costs of financial distress as part of a review of its capital structure.  Unlike the recently bankrupted Kmart, a discount chain focusing on low prices, the firm that has hired you is a high-price retailer that has a reputation for excellent customer service, high quality products, and elegant surroundings.  Suppose you can get a very good estimate of Kmart’s financial distress costs.  Would you guess that your firm’s costs of financial distress are higher or lower than Kmart’s?  Why?

III. (5 points)  In a Best Efforts All-or-Nothing initial public offering of stock, the issuing firm withdraws the offer, and no money changes hands, if the issue is not fully subscribed at the offer price.

A) What does this procedure imply about Winner’s Curse for subscribers to these best efforts offerings? 

B) Compared to a Firm Commitment offering made by the same firm, would you expect a Best Efforts All-or-Nothing offering to have less underpricing, more underpricing, or the same amount of underpricing?  Why? 

IV. (10 points) Quiet Co. is a cosmetics manufacturer that expects earnings of $100 million next year.  Quiet's book value of equity is $400 million, thus its return on equity (ROE) is 25%.  The company pays all of its earnings out as dividends, and under current policy expects to continue this practice in the future.  Earnings of the firm are expected to remain constant in perpetuity if no change in policy occurs.  The weighted average cost of capital (textbook formula WACC) for Quiet Co. is 12%.

Quiet has just hired Mira Knowitall (called Ms. K) to work in its Finance Department.  Ms. K has examined the firm's situation and argued that it is investing too little in the cosmetics business.  "With a cost of capital of 12%, and ROE of 25%, additional real investment should increase the firm's earnings per share (EPS) and stock price," she argues.

As evidence for her argument, Ms. K has uncovered what she considers a profitable investment opportunity that the firm is not planning to pursue.   The opportunity involves the development of a new men's cologne fragrance, to be called Gorilla.  The riskiness of the project is similar to the existing projects of the firm.  The project would involve taking $10 million out of current dividends and developing the new product.  After 12 months of development, Quiet would market Gorilla to consumers.  The after-tax cash flows generated after development would be $1.3 million per year in perpetuity, assuming that Quiet would always be taxed at the corporate level at the full statutory rate.

A) The Gorilla project had been turned down by Quiet managers because it would reduce Quiet's ROE below its current level of 25%.  The managers believed that the ROE reduction would cause a fall in stock price.  Ms. K, on the other hand, argues that whenever your firm's ROE exceeds the cost of capital, you are investing too little.  Critically evaluate both arguments.

B) Ms. K also argues that the project would increase all future years’ earnings,

    and thus increase stock price and shareholder wealth.  Is this argument correct?

C) Suppose that the firm’s current capital structure is 50% debt and 50% equity, and the debt is virtually riskfree with a rate of return of 4.5% to the lenders.  Assume also that the corporate tax rate is 33.3%.  Suppose also that accepting the Gorilla project will not cause Quiet to change its total amount of debt outstanding.  Would accepting the Gorilla project be in the interest of shareholders? 

V. State whether the following statements are  True, False, or Uncertain.  If some parts of the statement are true, but other parts are not, be sure to indicate precisely where, how, and why the argument breaks down.  In any case, even if the statement is true, be sure to explain the reasoning behind your answer completely.

A) (4 points) "The Modigliani and Miller theory suggests that the amount of a firm’s debt and equity will not affect overall firm value under some ideal assumptions.  While the theory works on debt and equity, it would not work for some other securities like convertible debt.  These securities, because of option-like features that cannot be valued using conventional models like the CAPM, appeal to select individual risk preferences.  The amount of convertibles issued by a firm would  usually change firm value even if the MM assumptions hold."
B) (4 points) “Suppose a firm is planning to issue either debt or equity to finance a new investment.  Then the choice of security is easy if the firm has no possibility of being in financial distress.  That is, if even after a new debt issue there is no probability of default, then the firm should always choose to issue debt.”
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Potentially Helpful Formulas:

Beta definition

Textbook Formula WACC

βJ = Cov (rJ,rM) / σ2M
WACC = VD/(VD+VE) * E(rD) * (1-τC) + VE/(VD+VE) * E(rE)

CAPM Security Market Line Equation:

E((rJ ) = rF + βJ * [E(rM)- rF]

Dividend Discount Model with Constant Growth:

P0 = DIV1 / (r-g)

Growth Rate in dividends given constant plowback ratio and Return on Equity:

g = b*ROE

Return on Equity for year t

ROEt = Earningst / Book Value of Equityt-1
I. (6 points)  Hewlett Packard (H-P) recently announced that its shareholders have approved its purchase of Compaq.  This concluded a hotly contested proxy fight between merger supporters, led by top H-P managers and CEO Carly Fiorina, and merger opponents, led by dissident director and founding family representative Walter Hewlett.  

H-P is a diffusely held company, with the holdings of all insiders and blockholders totaling 15% of shares.  Thus, there was an expensive political battle fought to get the 50% shareholder approval necessary, with full page ads placed in the financial press by both sides.  While Compaq shareholders have yet to approve the merger, their approval is regarded as a mere formality because the deal offers them a substantial premium above the market price of their shares before the merger announcement.
A) Knowing nothing else about this specific merger other than what is reported above, what reasons (if any) are there for small shareholders interested in maximizing their wealth to be suspicious of H-P managers’ motives in supporting the merger?

B) A key to the shareholder approval (according to the Wall Street Journal of March 11) was “an endorsement of the deal by influential proxy-advisory firm Institutional Shareholder Services (ISS).”  ISS advises shareholders of a wide variety of firms on votes about a wide variety of issues.  ISS does not directly own shares in either H-P, Compaq, or other companies.  Why was this third party so important to the vote in this particular situation?  In other words, in what different takeover situations would an ISS recommendation have less influence over the vote of a typical shareholder?

II. (5 points)  Describe fully how an “80/120” management bonus plan works?  Use a graph to illustrate the management payoffs.

III. (4 points)  State whether the following statement is True, False, or Uncertain.  If some parts of the statement are true, but other parts are not, be sure to indicate precisely where, how, and why the argument breaks down.  In any case, even if the statement is true, be sure to explain the reasoning behind your answer completely.

"There is increasing evidence that capital markets do not efficiently incorporate all publicly available information into market prices.  For example, initial public offerings of firms with short financial histories have on average been seriously overpriced relative to their long run value.  This enables managers of young firms to increase their utility and long run consumption by timing their offerings of stock to correspond to a period of irrational exuberance on the part of the capital markets."
IV. (9 points) In preparing the corporate charter for an initial public offering of stock, Newfirm CEO (and owner of 60% of pre-IPO Newfirm shares) Iris Flycheap is considering adding an unusual charter provision that would prohibit the company from reimbursing costs of Business Class or First Class air travel.  She argued that it was right for the firm to prevent such reimbursement since it was almost never in the shareholders’ interest to pay the high premiums for such travel.
A) Discuss the costs and benefits to Flycheap of including such a charter amendment.

B) If it never made sense from the shareholders’ point of view to fly first or business class, and if all outside capital market participants and investment bankers fully understand the effect of the provision, does that imply that adding the charter provision is in Flycheap’s interest?

C) If all outside capital market participants and investment bankers fully understand the effect of the provision, how would adding the charter provision affect the wealth of those subscribing to the Newfirm IPO?

D) Suppose Newfirm goes ahead with the charter provision.  Now Olderfirm, a Newfirm competitor that went public two years ago, is considering changing their charter to mimic Newfirm’s unusual provision.  Is such a change by Olderfirm likely to be in its managers’ interests?  Why or why not?

V.  (8 points) Endrun Corporation’s accountants, Reach & Stretch (R&S), have found an obscure provision in the tax code that enables Endrun to legally avoid all corporate taxes.  Endrun currently was paying taxes at a 35% marginal rate (about $3 million in tax per year), and almost sure to pay this marginal rate in the future, despite having considerable debt in its capital structure.  

Before R&S’s discovery, Endrun had 50 million common shares outstanding selling for $10 per share.  It also had $500 million dollars of long term debt with the book value of debt equal to the market value.  Its book value of common equity was $250 million.  It had no other long term liabilities or equity.  The β of its equity was 1.2 and the β of its debt was 0.  The riskfree rate of interest is 5%. 

A) Endrun is considering liquidating its debt by selling new equity.  Would you find this policy advisable given its new situation?

B) Compute an approximation to Endrun’s new equity β if Endrun sells enough equity to buy back all of its debt.  (Make reasonable assumptions where required.)

C) Describe another piece of data (or perhaps a couple of pieces of data) that you could use to construct a more precise estimate of β.  How precisely would you use this piece of data in part B?

SPECIAL MULTIPLE CHOICE INSTRUCTIONS: The following three questions are multiple choice-- circle all correct answers.  Note that any number of answers may be correct, from zero to all.private 

No explanation is necessary for full credit.  You may give explanations if you wish, but you may lose as well as gain points from them.  In any event, the explanations should be no longer than two sentences.  

VI. (5 points) Suppose Kennecott, instead of buying Carborundum, had paid a large “bonus dividend” with the cash used in the Carborundum deal.  The result of this policy change would likely have been   

A) an increase in the Kennecott’s stock price on the day the bonus dividend was announced.

 B) a higher Kennecott closing stock price on the bonus dividend’s ex-dividend day than on the day before going ex-dividend.

C) a positive abnormal return for Kennecott on the ex-dividend day if Kennecott were like most firms going ex-dividend.

D) an increase in the fraction of Kennecott shares held by large investors like corporations, universities, and pension funds between the announcement of the bonus dividend and the ex-dividend day.

E) a change in stock price per dollar of dividend on the ex-dividend day closer to 1-for-1 than the change in stock price per dollar of dividend for most firms paying regular quarterly dividends.

F) an increase in stock price on the record date of the bonus dividend. 

VII. (3 points) Much of the corporate finance literature investigates evidence on abnormal stock returns for a one or two day period surrounding the announcement of corporate policy changes.  It then interprets the average abnormal return as an indication of the effects of the policy changes on shareholder wealth.  This approach is hazardous in the typical study because

A) signals implicit in the announcement may be unrelated to the effects of the policy change.

B) there is no control for risk.

C) the effects of policy changes may be very different for different firms.

D) stock prices adjust gradually to the expected effects of the changes.

